SIMATICO O OO obouoboobouoboo

gogn SIMATICUOOODODOOOoOoooooDoDoD
gooon

goon goooboobboodgd

HEN .00/0

gogn goo:ogoooobooo

guoooob:boboboooooon
go:bogogooobooo

0ooo 0000000007750 20
0ooo 18674345958 18674345958
oo

gubuobobooooooobuouoa

>>>>00000

“ 100" 00000000100 =10000000 O O
00000000000000000000000000000 [1Pa=IN/(Mx M)]O
00000000001000=98000

0000000000000000 1000000000” O

0000000000000 1007 0000001000000000000000010000
1000 0=0.0980 00

0 0:10 O (MPA)= 1020 0 O O (KG/CMA2)

1MPa=10.1970 0 /0 0 2=101.97mO0 00 00 0 O O O 101.97m0

>>>>O0000PIDOOO



PIDULOODO00O0O0O,ooooobopPDUooooooood
0 0O T: P=20~60%, T=180~600s,D=3-180s

0 O P: P=30~70%, T=24~180s,

0 O L: P=20~80%, T=60~300s,

**L: P=40~**** T=6~60s[]

O0OPIDOOOCDOOOO0OOOKp@OOOO)K(@OOODO)KIOOOO)DOODOOD0O00O000O
0oooo0ooo

>>>>[ 00 0Kp

godoobobobobobbdkKpgoooobobbooooooobokKpooooooooo
JoobobOoOKpOOooooobbbbodooKpgooobobbbooooo o,

gubbddodbbgoodkp oo ooo=goouoboobuuk
puddoooooooooon

>>>>O0 000K

OobhodboobobobooKioooooboooookKiboooooooo.Kiobooooooo
OKiDODOOODoooohoooo,boKioDoboooooooooo;

0000000000 obooboooboooo=*goboooboooboooKiooboooooDo
goboooboooooad

>>>>0 0 0 0O Kd

goboobbboooooobobbobbtbooooduobboobboooooobobobbuooox=ygo
O0000KdDOoOooooooboooooobooobooboooooobooooooobo
goboboobobood* googobobobboboogr goooobo

poooboboobooobboobooboboobbooboboobboooboobboooboo
gooooood

@QUUODbDbOo0obooobooboooKioooooobooo@Muooboooooo
gboo@obooboooboooes)yboooKioboooboobooboboobooobooobo
guoduobbbbogooguoobobouoooooobobod

(UibboobooopboobooDboUob0ooDboobDoooDbooboooDo
ooodboboooboobobooobox»gobUoobuookdboobooboobobuooboooo



pU0 0000000000 DLO00000DbO0o0bO0o0DoOoibooDboooDoOooDO
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
00

googorPIDO0D0OODDO0OODOODDODO0ODOOODDOPIDDODODOOO@OOODOD)YOO
gooboo

gboooobooboopPiDOUbDO0OOb0DbO0ObDOODODDOODbDOODODDOObDOW@WODO
ooooooo---oboobb0ooboobboobo0ooDboob0oDboobDo@WoDDLOooo
Oo0ooobooboogoo)g

>>>>O0000000

gogoobobobbooooooobobbodoo
AlJARODOOODODOODDO@WODAIIODDOO)

gooog

>>>>O0000000
O00O00O00ogvweoooOo o oo

0000004500 (0 00000004-20Ma,000000-0600)000000000000 75%(0.4
500 0.6)

0 VL6e000D D O O Ovweooo AlD D 0000 boobbooooooobDARODOUOARODDOO
gobobobobbooooooboboobod

00-02=1 JUUOOUOU=1000d
01-01=50*0 00U d
01-03=500 00O 0O

01-05=1500 00O



01-08=800 00O 0Ox 00

guoouoobbbogoooooobbouoooad

c2-07=0000D0O0ODOO0UO0O0O00O0DbDDbDODOUO0O0OUO0OUDbDbDbODbDbOUOOODUUOUbDbDbODbDDbDOO
gooboo

g2-15=0,0 0 0ugubbobbboooooobboon
o pnobbbooooooooboboobo
gobobobobboooooobobbobbbooooan
10-04=1V, Al20 O 0O O 1vO O O O 4mA

10-06=10V, Al20J OJ 0 10vD O O O 20mA

210 0 PIDO
21-00=000 PIDO O [0 00J 21-01
21-01=0 00 0gooobobo*xuuoobbobbodin%
21-03=10 PIDO 0 OO0 O 100 V12
21-04=00PIDUOLOOODOOOO0O0O0O0ODLDODLDDOOO0O0OOOoLObLbObLbLbO00OooLLOD

32-10=160 00000000000 (@Oveeoood o d)


http://www.tcpdf.org

